Asexual reproduction

What is asexual reproduction?

· Reproduction that does not involve the fusion (joining) of gametes (sex cells) from two parents. 

· Instead, parts of the plant grow and then become detached from the parent plant to form a plant of its own

Advantages to asexual reproduction 

· Every asexual organism can reproduce on its own.
· Can lead to a rapid population build-up.
Possible disadvantages to asexual reproduction

· Every new organism produced by asexual reproduction is genetically identical to the parent – a clone.
Examples of plants that can reproduce asexually

· Strawberry plants can reproduce by sending out runners; 

· Onion plants form bulbs; and

· Potato plants form tubers. 
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